547 - 90 =
246 452
500 + 40 =
270 540
815 + 100 =
915 275
329 + 30 =
151 359
503 - 60 =
48 443
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519 - 20 = 603 - 70 = 825 + 90 =
501 499 73 533 702 9215
252 + 60 = 265 + 90 = 702 + 70 =
312 107 355 16 167 772
876+ 70= 896 +100= 294+ 70 =
946 450 996 17 352 364
609 + 10 = 495 + 80 = 112 - 40 =
619 538 575 131 72 2
831+ 90 = 744 + 80 = 627 - 10 =
921 760 824 8 223 617
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Gemischte Aufgaben
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Gemischte Aufgaben
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500+40= 252+60= 265+90= 702+ 70 =
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815+100= 876 +70= 896+100= 294+ 70 =
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13. 14. 15. 16.
329+30=  609+10= 495+80= 112 - 40 =
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17. 18. 19. 20.
503-60= 831+90= 744+80= 627 -10=
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